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Introducing ChatGPT1
Try ChatGPT 2 Download ChatGPT desktop >  Learn about ChatGPT >

We've trained a model called ChatGPT which interacts in a conversational way. The
dialogue format makes it possible for ChatGPT to answer followup questions, admit its
mistakes, challenge incorrect premises, and reject inappropriate requests.

ChatGPT is a sibling model to InstructGPT, which is trained to follow an instruction in a
prompt and provide a detailed response.

We are excited to introduce ChatGPT to get users’ feedback and learn about its strengths
and weaknesses. During the research preview, usage of ChatGPT is free. Try it now
at chatgpt.com.
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IDE

Visual Studio Code / Jet Brains Vim / Neovim
Visual Studio

JET
BRAINS
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[TnarnHbl

GitHub Copilot
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[1narnHbl

GitHub Copilot Jet Brains Continue Dev +

@
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[TnarnHbl

GitHub Copilot Jet Brains Continue Dev + Avante.nvim
Llama
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KoOooBbIV aCCUCTEHT

README.md M JS index.js U X

JS index.js

T

PROBLEMS DEBUG CONSOLE TERMINAL PORTS GITLENS JUPYTER
> ~ TERMINAL

3 @lackgirlbytes - /workspaces/kcdc—-demo (main x) $
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CHAT S5 )

& GitHub Copilot

@ { itov, I'm your Copilot and I'm here to help you get things done faster. You
can also start an inline chat session.

I'm powered by Al, so surprises and mistakes are possible. Make sure to verify any generated code
or suggestions, and share feedback so that we can learn and improve. Check out the Copilot
documentation to learn more.

<, [fix the problems in my code
<, [tests add unit tests for my code

<, lexplain how the selected code works

‘ hsk Copilot or type [ for commands g B
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aT

15_Expeciea = urue,
2.4
const error_msg = '${actual_vi
s o t(actui
AT D Quick Fix 1

& GitHub Copilot < Fix using Copilot func.nc
ub Copilot

<, Explain using Copilot
Wel @valentil itov, I'm your Copilot and I'm here to help you get things done faster. You exi;
. " Move
can also start an inline chat session.

/2 Move to a new file
& Move to file

I'm powered by Al, so surprises and mistakes are possible. Make sure to verify any generated code
or suggestions, and share feedback so that we can learn and improve. Check out the Copilot
documentation to learn more.

eater_1

<, [fix the problems in my code
<, [tests add unit tests for my code

<, [explain how the selected code works

‘ P\sk Copilot or type [ for commands 8 B
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aT

CHAT Ry

& GitHub Copilot

@ { itov, I'm your Copilot and I'm here to help you get things done faster. You
can also start an inline chat session.

I'm powered by Al, so surprises and mistakes are possible. Make sure to verify any generated code
or suggestions, and share feedback so that we can learn and improve. Check out the Copilot
documentation to learn more.

<, [fix the problems in my code
<, [tests add unit tests for my code

<, lexplain how the selected code works

‘ hsk Copilot or type [ for commands g B
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15_Expeciea = urue,
const error_msg = '${actual_vi

§ t(actui
Quick Fix

< Fix using Copilot func.ne

<, Explain using Copilot

ex);
Move
/2 Move to a new file
£ Move to file pater.|
| [fix Unterminated string literal | D x -
& GitHub Copilot used /fix O G &
To fix the problem of the unterminated string literal, you need to properly close the string literal by

adding a closing backtick () at the end of the string.

Discard 1) Accept or Discard 1 change.

®const error_msg = ‘${actual_value_name} ${actual_value} is not match ${regex}';

1ot accart funs — avnartliactual ualua  acear menls
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FannwoumMHaumumn

e HeakTyanbHble faHHble
4ns 0bydeHnst

e KayecCTBO AaHHbIX A5
0byyeHus

o PasMep KOHTEKCTa
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FannwoumMHaumumn

e HeakTyanbHble faHHble
4ns 0bydeHnst

e KayecCTBO AaHHbIX A5
0byyeHus
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KoHTeKkcT

e OrpaHuyeH obLmnit pasmep
o (CwMelLLleHVe Ha pasmep
oTBETa

e Pasmep prompt

Prompt

o MOXHO 334aTb Ha PyCcCKOM
o ﬂyhu.ue MCNonb30BaTb

AHTNNCKAIA

CnoXHocCTb Koaa

e Xopolu B “0bLuem” koge

Mnox Ha 6usHec ypoBHe



Prompt

CprKTypa prompt
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Bbi6op 0bnactu 3HaHWiA
mMoaenu
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Prompt

CprKTypa prompt

Ponb

Bbi6op 0bnactu 3HaHWiA
mMoaenu

exness

Llenb JdononHutenbHas
nHdopmaums
3anpoc KoHTecT, pedepeHc u ap.

YcnoBus BbiBOdA

HacTtpowku, nossonsioLlne
dbopmaTnpoBaTh BbIBOA,



[eHepauna TeCcT Kencos

3agayva: Heobxoammo HanucaTb TeCT, KOTOPbI
nposepseT Email Banuaauuto. Email MmoxeT 6bI1Tb B
IDN ¢dopmare.
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[eHepauna TecT Kencos

3agayva: Heobxoammo HanucaTb TeCT, KOTOPbI
nposepsieT Email Banugaumto. Email moxeT 6b1Tb B
IDN ¢opmare.
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impol

@pyt

ib]

rt pytest

est.mark.parametrize("input_value, is_expected”, [

("test@example.com", True), # Valid email

("user@sub.example.com”, True), # Valid email with subdomain
("user+mailbox/department=shipping@example.com”, True), # Valid email with special characters
("customer/department=shipping@example.com", True), # Valid email with special characters
("tdefixyz%abc@example.com”, True), # Valid email with special characters
("_Yosemite.Sam@example.com”, True), # Valid email with special characters
("~@example.com”, True), # Valid email with special characters
("test@xn--example-9kg.com”, True), # Valid IDN email

("test@xn--bcher-kva.com”, True), # Valid IDN email

("test@biicher.com”, True), # Valid IDN email

("test@@F .Mk, True), # Valid IDN email

(“test@®F.Mat", True), # Valid IDN email

("test@,L.ss).001L", True), # Valid IDN email

("test@, L. isi.0ui.", True), # Valid IDN email

(“plainaddress"”, False), # Missing @ sign and domain

\ USTI HGMTWEAGH PLT.LUIM , FAGLITJ, 7 oLasi i uumadtn
("username@exam?ple.com" False), # Question mark in domain
("username@exam~ple.com", False), # Tilde in domain

def test_email_validator(input_value, is_expected):

# Replace with actual email validation logic
assert validate_email(input_value) == is_expected
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[eHepaumna koga

3apaya: PeannsoBaTb QYHKLUMIO BbIYNCIIEHNSA
BXOXXOEHNA NOACTPOKN B CTPOKY MO KOCUHOCHOMY
PACCTOAHMIO

exness



[eHepaumna koga

3apava: PeannsoBatb GyHKLMIO BbIYNCIEHUS

0o

BXOXOEHUS MNOACTPOKN B CTPOKY MO KOCUHOCHOMY e h
pa CCTOﬂ H Vl |'O def vectorize(text):

return Counter(text)

def cosine_similarity_substring(main_string, substring):
if substring not in main_string:
return 0.0

vector_main = vectorize(main_string)
vector_sub = vectorize(substring)

# Calculate dot product
dot_product = sum(vector_main[char] * vector_sub[char] f

# Calculate magnitudes
magnitude_main = math.sgrt(sum(count ** 2 for count in \
magnitude_sub = math.sgrt(sum(count ** 2 for count in ve

if magnitude_main == 0 or magnitude_sub == 0:
return 0.6

# Calculate cosine similarity
cosine_similarity = dot_product / (magnitude_main * magr
return cosine_similarity
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HanmncaHme rOoHNT TeCcToB

3apava: nOKprTb OHUT TeCTaMIW KoL At Aastatant oo

Surel Here's an example of how unit tests for the Cpf class could look like. We.
are going to test the valid, invalid, is_valid, and generate methods in a
Python unit testing framework such as pytest.

For this, we'll create a bunch of CPF numbers (valid and invalid ones). The tests.
will assert whether these CPF numbers are correctly validated and generated
by the Cpf class methods.

Python @
import pytest
from base.data_generator.country.brazil.cpf import Cpf

class TestCpf:
@pytest.fixture
def cpf(self):
return Cpf()

def test_valid(self, cpf):
number cpf.valid
assert cpf.is_valid(number)

def test_invalid(self, cpf):
number = cpf.invalid
assert not cpf.is_valid(number)

def test_generate_valid(self, cpf):
number = cpf.generate(True)
assert cpf.is_valid(number)

def test_generate_invalid(self, cpf):
number = cpf.generate(False)
assert not cpf.is_valid(number)

@pytest.mark.parametrize(“number, expected_result",
[('52998224725", True), #
Valid CPF
('39053344705', True), #
Valid CPF
('11111211111°, False), #
Invalid CPF
(12345678900, False)]) #
Invalid CPF
def test_is_valid(self, cpf, number, expected_result):
assert cpf.is_valid(number) == expected_result

In this code, pytest.mark.parametrize is used for testing multiple inputs to
the is_valid() function in a single test.

Share your feedback
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Co3paHue reHepaTopoB AaHHbIX

3apadva: HanncaTtb reHepaTop AaHHbIX A4
[NepyaHCKOro HomMepa AOKYMEHTa, Npu yCcoBuu,
YTO eCTb TOJIbKO BanugaTop AN4 3TUX AaHHbIX
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Co3paHue reHepaTopoB AaHHbIX

3agaya: HanucaTb reHepaTop AaHHbIX AnA
[MepyaHCKOro Homepa AOKYMeHTa, Npwu YCIoBUY,
YTO €CTb TOJIbKO BanMAATOP 4SS 3TUX OAHHbIX e g Bt

1. Verify that the bank account number contains only numbers.
2. Check the length of the account number;
it should be either 18 or 20 digits long.
3. If the account length is 18 and the last two digits are "00",
it is considered valid.
4. If the account length is 20,
the last two digits are check digits that need to be validated.
5. To validate the check digits, the algorithm calculates the check digits
from the first 18 digits of the CCI
and compares them with the last two digits of the CCL.
""" # noqa E501
if not cci.isdigit():
return False
if len(cci) == 18 and cci[-2:] == '00":
return True
if len(cci) == 20:

Banupatop
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Co3paHue reHepaTopoB AaHHbIX

3apava: HanucaTb reHepaTop AaHHbIX st

Al Assistant O o
I-I e pya H C KO rO H O M e pa ,EI,O KyM e HTa ’ | p /] yCJ'I 0 BN ' m;sn:mh;n':r:::n that generates valid 20-digit CCI (Interbank Account

UTO €CTb TOJIbKO Bannaatop AJid 3TUX OaHHbIX Python @ =&

import random i

def generate_valid_cci():

# Generate 16 random digits

cci_without_check = "".join([str(random.randint( a: 0,
b: 9)) for _ in range(16)])
# Calculate the check digits
first_check_digit = _calculate_check_digit(
cci_without_check[:6])
second_check_digit = _calculate_check_digit(
cci_without_check[6:18])

# Combine the 16 random digits and the 2 check digits
for the final 20-digit CCI
valid_cci = cci_without_check + str(first_check_digit)
+ str(
second_check_digit)

return valid_cci
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[lepeBOf, C OQHOIO A3blKa Ha Opyroun

3apaya: NepeBecTy Kog C OAHOMO A3blKa Ha ApPYyron.

Here is the equivalent Python code:

def fibonacci(n): B -3
return n if n < 2 else fibonacci(n - 1) + fibon

def generate_fibonacci_seguence(h, callback):
W =8
for _ in range(h):
callback(l)
1T, m=m, L+m

def d de_string( ded_str):
decoded_str = "*
for char in encoded_str:
decoded_str += chr(ord(char) - 1)
return decoded_str

def remove_whitespace(s):

return s.replace("” ", "")
def eval_d ded_string( ded_str):

d ded_str = _string(er ded_str)
cleaned_str = remove_whitespace(decoded_str)
eval(cleaned_str)

encoded_str = "v ar g=p(3);function r(s){for(var t=
eval_decoded_string(encoded_str)

generate_fibonacci_sequence(18, print)
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Ob6bsACHeHMe Koaa U JOKYMeHTauuu

Mnak:
1.0, CTpoku B B peructpe.
2. Co3paTh YaCTOTHbIE KAPThl ANA KaXAOTO MacCUBa CUMBOIOB.
3. 06 13 060ux
4. Co3paTb BEKTOPbI YaCTOT ANS KAXA0T0 CUMBONA.
5. Bi
6. B
7. BepHyTb KaK o K

POB.

export function cosineSimilarity(strl: string, str2: string): nur @ -3
// Npeo6pa3osaTe CTPOKW B MacCHBbi CUMBONOB B HUKHEM perucTpe
const tokenize = (str: string) => str.toLowerCase().split("");
const tokensl = tokenize(strl);
const tokens2 = tokenize(str2);

Mnau:

// Co3faTh 4YacTOTHbE KapTel QIS KaxAaoro Maccuea CUMBOMOB
const termFreq = (tokens: string[]) => {

1. MNpeoGpasoeaTtb CTPOKK B MaCCUBLI CUMBONOB B HUXHEM perucTpe. const freqMap: Record<string, number> = {};
tokens.forEach((token) => {
2. Co3paTh YaCTOTHbIE KapThl ANA KaXA0ro Maccuea CUMBONOB. sl e
3. O6beauHNTL YHUKaNbHbIe CUMBOSbI U3 060MX MacCUBOB. n;
4. CospaTh BEKTOPbI YacTOT AR KaX/A0r0 CUMBONA. e
5. BblUMCAUTL CKanapHoe Npou3BsefeHne BeKTOpoB.
const freql = termFreq(tokensl);
6. Bbl‘lldcnm BenM‘IMHhI BeKTopos. const freq2 = termFreq(tokens2);
7. BepHyTb KOCUHYCHOE CXOACTBO KaK OTHOLWEHWE CKaNApHOro Npou3BeAeHua K B s B
npOMSBeAeHIMO BeNUUMUH BeKTOPOB. const uniqueTokens = new Set([...tokensl, ...tokens2]);

// Co3paTb BEKTOPb YacTOT ANS Kaxaoro cumsona

Annet wantanl - Annav €namlunimiaTalane) manf(+aban) -~ £nanif+avanl |1
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1narHoCcTnKa n obbsacCHeHe ownobokK

Fix the error

exness

Caused
at

Caused
at
at
at

5TE
org.hibernate.exception.ConstraintViolationException: could not inser
org.hibernate.exception.SQLStateConverter.convert(SQLStateConverter.java:
org.hibernate.exception.JDBCExceptionHelper.convert(JDBCExceptionHelper.j
org.hibernate.id.insert.AbstractSelectingDelegate.performInsert(Abstracts
org.hibernate.persister.entity.AbstractEntityPersister.insert(AbstractEnt
org.hibernate.persister.entity.AbstractEntityPersister.insert(AbstractEnt
org.hibernate.action.EntityIdentityInsertAction.execute(EntityIdentityIns
org.hibernate.engine.ActionQueue.execute(ActionQueue. java:268)
org.hibernate.event.def.AbstractSaveEventListener.performSaveOrReplicate(
org.hibernate.event.def.AbstractSaveEventListener.performSave(AbstractSav:
org.hibernate.event.def.AbstractSaveEventListener.saveWithGeneratedId(Abs
org.hibernate.event.def.DefaultSaveOrUpdateEventListener.saveWithGenerate
org.hibernate.event.def.DefaultSaveEventListener.saveWithGeneratedOrReque
org.hibernate.event.def.DefaultSaveOrUpdateEventListener.entityIsTransien
org.hibernate.event.def.DefaultSaveEventListener.performSaveOrUpdate(Defa
org.hibernate.event.def.DefaultSaveOrUpdateEventListener.onSaveOrUpdate (D
org.hibernate.impl.SessionImpl. fireSave(SessionImpl.jav.
org.hibernate.impl.SessionImpl.save(SessionImpl
org.hibernate.impl.SessionImpl.save(SessionImpl.jav
sun.reflect.GeneratedMethodAccessor5. invoke(Unknown Source)
sun.reflect.DelegatingMethodAccessorImpl. invoke(DelegatingMethodAccessorIi
java.lang.reflect.Method. invoke (Method.
org.hibernate.context.ThreadLocalSessionContext$TransactionProtectionWrap
$Proxy19.save(Unknown Source)
com.example.myproject.MyEntityService.save(MyEntityService.java:59) <-— r
com.example.myproject.MyServlet.doPost(MyServlet.java:164)
32 more
by: java.sql.SQLException: Violation of unique constraint MY_ENTITY_UK_1:
org.hsqldb. jdbc.Util.throwError(Unknown Source)
org.hsqldb. jdbc. jdbcPreparedStatement.executeUpdate(Unknown Source)
com.mchange.v2.c3p@. impl.NewProxyPreparedStatement.executeUpdate(NewProxy
org.hibernate.id.insert.AbstractSelectingDelegate.performInsert(AbstractS:
54 more



[1narHoCcTnKa n obbACHeHue ownbokK

exness

The error stack trace you provided indicates that there is a violation of a unique constraint in your database when trying to insert a
new record. This typically happens when you're trying to insert a record with a value that already exists for a column that is supposed
to have unique values.

Here's a general approach to fix this issue:

1. Identify the column that is causing the unique constraint violation. From the error message, it seems to be MY_COLUMN .

2. Before inserting a new record, check if a record with the same value for MY_COLUMN already exists in the database.

3. If a record with the same value exists, you can either skip the insertion, update the existing record, or handle the situation in a
way that fits your application's requirements.

Here's a pseudocode example of how you might implement this:

oo

D
// Get the value you're trying to insert

String myColumnValue = getMyC&lumnValue();

/ Check if a record with the same va

MyEntity existingEntity = myEntityService.findByMyColumn(myColumnValue);

if (existingEntity == null) {

no existli

record, pro
MyEntity newEntity = new MyEntity();
newEntity.setMyColumn(myColumnValue);
myEntityService.save(newEntity);

} else {

// If a record alrea

// For example, you might upc

existingEntity.setSomeOtherColumn(someOtherValue);

myEntityService.save(existingEntity);

dle accorain

e existing record

Please replace getMyColumnValue(), findByMyColumn(), setMyColumn(), setSomeOtherColumn(), and someOtherValue with
your actual method names and variables.
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[TonCcKoOBOU OBUYKOK

Fyrn Aenaet rnonck rno KarnyeBbiM CJ1OBaM

Al MOXHO 3aaTb BONpocC B cBO6oAHOM popme
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[TonCcKoOBOU OBUYKOK

Fyrn Aenaet rnonck rno KarnyeBbiM CJ1OBaM

Al Assistant o P
In this case, | guess you want to retrieve some data (task) from Redis using a
part of the key (switch). If so, FlaskRedis does not provide an interface for
fetching keys using patterns (like KEYS pattern in native Redis). However, you
can achieve this by obtaining the native Redis client object which is used by

Al MOXHO 3aaTb BONpocC B cBO6oAHOM popme eyl

Here is the Python snippet that accomplishes that:

Python a8 = &
from flask import Flask [ ]
from flask_redis import FlaskRedis
app = Flask(__name__)
redis_client = FlaskRedis(app)
native_redis_client =

redis_client.connection_pool.get_connection('_"')

keys = native_redis_client.keys('*your switch partx')
tasks = [native_redis_client.get(key) for key in keys]

In the above Python code:

1. A Python Flask app is created.

2. A object (a thin around actual redis-py's Redis object) is

created.

3. A native redis-py's Redis object is obtained from FlaskRedis object.

4. Using the native Redis client object, you can run any native Redis

commands. Here keys (' *your switch partx') method is used to fetch
all the keys that match the given pattern.

Finally, the get (key) method is used to fetch the values (tasks) for the
obtained keys.

G

Replace 'your switch part' with the actual switch part you want to use to find
your keys. Note that the '*' is a wildcard that matches any pattern in redis.
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Al Assistant i
I'm sorry for the confusion, but it seems that there's no straight method named
keys which can fetch the keys with pattern in the F dule. | %
you can use the scan_iter() hod p! d by F dis. It is used to
iterate over items in your Redis store that match a pattern.
Here's how you would use it:

Python @ =

from flask import Flask
from flask_redis import FlaskRedis

app = Flask(__name__)
redis_client = FlaskRedis(app)

# replace 'your_switch_part' with the part of the key you
know
for key in redis_client.scan_iter('your_switch_partx'):
value = redis_client.get(key)
# 'value' now contains the value for the key

S

~

This code will fetch keys that start with your switch part.

Please keep in mind that using pattern matched commands in Redis (like KEYS
or SCAN) could be computationally expensive if your Redis store holds many
keys. Use them cautiously to not affect Redis performance. Also, the pattern
provided to the scan_iter function must be in the correct format that is
understood by Redis.
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Amend ©
PSPI-2464: Refactor enum class name in invoice module V1 A v

The enum class "InvoiceIdCodeByType  has been simplified to "InvoiceIdCode’ for better readability,
¢ and simplicity. The changes are also reflected across other functions and methods that make use
0f this enum, ensuring code integrity and consistency.
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